15) 891 AnlanednInum sin15° + sin55° = x WAL cos15° + cos55° =y
(X+y)2—2xy = X+ 2xy +y?—2xy
2 2

:)(+y

PIAT X2 = (sin15° + sin55°)? = sin?15° + 2sin15°sin55° + sin®55°

WIATY? = (cos15° + cos55°)°= cos*15° + 2c0s15°c0s55° + cos?55°

X2 +y? = (sin®15° + 2sin15°sin55° + sin®55°) + (cos?15° + 2cos15°c0s55° + cos°55°)
= (sin®15° + cos?15°) + (sin?55° + c0s°55°) + (2c0s15°c0s55° + 2sin15°sin55°)
= i(sin”15° + c0s®15°) +{sin”55° + c0s*65°) + 2{c0s15°c0s55° + sin15°sin55°)

..........................................................

1 1 cos(15°—-55°) = cos(- 40°)

X2+ y? 1+ 1 + 2[cos(- 40°)]

= 2+ 2[cos(-40°)]

91N cos(-0) = cosO

X2+ y? 2 + 2c0s40°

2 + 2c0s2(20°)
]1N cos(20) = 2cos?0 — 1

X2 +y? = 2+ 2(2c0s720° - 1)
XX +y? = 2+ 4c0s?20° -2

X2 +y? = 4cos?20°

aglgnsanuoninlfludeil
cos(-0) = cosB cos(26) = 2cos0 — 1 cos(A — B) = cosAcosB + sinAsinB
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